EERERMWITARERIOETH N EREEMERER RFAEITER

B R
1~ WEIRER - AR A BS80S ? 7~ tnEEEREER - AR
I T R e orI%E

BALHS[E 84 93.33% & E g | Btk

KEieA A A 5 5.56% R4 50 55.56%

S =PNGIE 0.00% 3 3 22 24.44%

FFo 1 1.11% N 0.00%

& B 90 100.00% RFEIR 18 20.00%
& a1 90 100.00%

2~ RERIY AL HAREAYREEAA] ?

R NFEAE R
1~ WRATIES 32 R 2

& % A CEE"
A (FEEA) 27 30.00%
& 51 56.67%
sg A 7 7.78%
EHE AN (BEL) 0.00%
RN 5 5.56%
(e 0.00%
fE 5] 8 & 5 55 0.00%
RBERE G 0.00%
f=l-a G 90 100.00%

2 KIHBERE - BHE M

& £ gl 857 8~ MRMEWEN > MR EHERZS
B 7 56 62.22% Bioa RN = i HANID| T TN YN o
L 33 36.67% & £ g | Aotk
K 7 0.00% 7 4y 34 37.78%
*FE R 1 1.11% A 3 11 12.22%
o st gy 90 100.00% T4y 0.00%
N AR 45 50.00%
3~ IS E B OAERRRE ? =G 90 100.00%
& E g | BHaoth
AENFBIE 20 22.22% 9~ MEEREWE - M EHEAE
EIE104758 DL 56 62.22% BHE RS RIEFTEIR A B AR e
EAE10ZE 305744 0 0.00% HHIHEA] 2
FEAE30 T 2 1/ NEF 0.00% & = g | otk
JEAE LN [ 0.00% 15 7 4y 27 30.00%
*#E R 14 15.56% A 3 12 13.33%
oo o8y 90 100.00% K%Ly 0.00%
*+E 5 51 56.67%
4 ~ RE0 Rt ZL B IR R 2 & 5t 90 100.00%
5 E % g |Eatt
R’ % 73 81.11% 11~ T ARZEGNIRET ?
S| 14 15.56% % = g | Att
K 4 0.00% b s 51 56.67%
*FE 3 3.33% I F 4 4.44%
el 90 100.00% PR 0.00%
* FE R 35 38.89%
5 TR Rnai B E RS HWEIETE aat 8 90 100.00%
& X g | Gtk
R E 60 66.67% 12 ~ WEARZ E{C IR SRR ?
il 22 24.44% & E g | Aotk
N E 0.00% Ry = oD 68.89%
*FEoR 8 8.89% I 3 4.44%
aat 8 90 100.00% R 0.00%
KT 24 26.67%
6 ~ R E AR T EEH 218 aat 8 90 100.00%
& X wg | Gtk
HEERE 52 57.78% 13 ~ (A [E{ R O FE IR 2
HREAERE 0 0.00% E E g | Aotk
HRI8RE ' o= 34 37.78%
524G 55 0.00% A 3 6.67%
FNERE 7 7.78% ST 0 0.00%
NN 31 34.44% N AR 50 55.56%
=l-aa G 90 100.00% =l-aa G i 90 44.44%

=K = | 857
e 0 0.00%
TFHE 0 0.00%
[l 0 0.00%
HH 0 0.00%
i 0 0.00%
Sp 0 0.00%
~RE 1 1.11%
R b 2.22%
=R 2 2.22%
=i 0 0.00%
FIHE 1 1.11%
RVPA a3 1 1.11%
A 0 0.00%
=i 6 1.33%
il 0 0.00%
SRR 4 4.44%
FHE 0 0.00%
T 8 8.89%
HERS 1 1.11%
HER 6 6.67%
N 1 1.11%
S 9 10.00%
2 2 2.22%
=R 4 4.44%
H G 5 5.56%
AR 1 1.11%
EIHE 2 2.22%
RS 2 2.22%
=R 3 3.33%
FERL 0 0.00%
A 2 2.22%
S 4 4.44%
THRE 2 2.22%
GRS 1 1.11%

= 1 1.11%
= 5 5.56%
Zs 7 2.22%
* 0 0.00%
H 1 1.11%
75 4 4.44%
F 1 1.11%
% 1 1.11%
=) 0 0.00%
& 4 4.44%
3t 1 1.11%
P 4 4.44%
BT 90 [ 100.00%

14 ~ 10047 H 8 R &R0 -
15~ AAEEANHM AT R -




